Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

4U1702-429_0OP04143_W1_NO05_200s.txt / MJD 50910.631820 / burstid=1380

; Grey line: exponential fit Peak flux: 3.224+/- 1.071 c/s/lcm® E
E Black line: power law + gauss fit Fluence : 32.35+/- 13.34 c/cm? =
E Dashed line: power law ’ ) ' 3
= Duratjon : 35.55+/- 14.67 s —
E Best fit model: 1. 3
= est|fluence model: 1. =
% | ‘ lm est|duratian;model: 1. 7
IR R N
= s H
E H“ \MHH W ‘m“ ‘;m ‘;J_ ﬂ WL, =_HU N \‘ “Hu | ‘ ‘\‘ | HHM H ‘\ ‘ h | | \HH;
= W# W “r | H Il H‘ H ‘ | | HHH ‘M U ‘ H H I ‘H ‘\ NE
; Exponential fit é
= Expon.time: 15.03+/- 5.81s (chi*red= 0.89) J
- iy bt Ly b et o bt B % b bt 4
= WﬁHHHH WHHH ﬂﬁﬁWﬂWWMﬂmH% ﬁgM#Wm i Mw %ﬁ Mﬂ ﬁm WH y Wﬁw W *W% WW **JHHWH+*ﬁﬁ+ﬁ*ﬂﬁ*“**ﬂﬂﬁwﬁﬂfﬁ h Wﬂ@%
; Power law fit é
E Power law index: -0.511+/- 0.124 (chi*-red= 0.89) =
- | | | R
- po ! o ol | | Db th frbbd o | oo
= P *Hﬁ*ﬁ“ﬁ****WW*W*H+Wﬂwﬁﬁ*ﬂﬁﬁﬂwﬁﬂ*ﬂﬁHﬁﬁﬁﬂ“ﬁﬁ R W*H**wﬁwﬁﬁﬂwﬂ+++***+*****+*****meﬂ el
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 26.78+/-20.43 s, fracgs= 0.24+/- 0.26) =
= Power law index: -0.584+/- 0.228 (chi’-red= 0.89) 3
- | + bt | R
= f b Ho b il | Fhbte bt phow bty ghd 1k
= W ﬁW:W**ﬂﬂﬂ*ﬁw*H A A A T *TWHH*“Hﬁﬁﬁ#ﬂﬂ#ﬁ“*Wﬂwﬁﬁ el
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 30

Time [s]

0



